#o. of Frinted Pages Zi .

SEAT No.
o - : APD!‘TZE}ATEL UNIVERSITY
LQ/ﬁ—zj B.Sc. (CBCS) - SEMESTER II
Ettc Subject: PHYSICS Course Code:rUSO2ZCPHYO1
Date: 04/10/2022, Tuesday ' Time: G9:30 am to 11:30 am
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Instructions: - 1. Attempt all questions.
ii. Figure on right hand side indica tesqu marks of that question.
iii. Symbols have their usual meaning.

Q - 1. Answer the following multiple choice questions. (10}
1. Triple scalar product of two same vectors is equal to
(a) -1 (b) O
(c) +1 (d) oo
2 The relation between volume integral and surface integral is given by theorem.
(a) Green’s {b) Stoke’s
{c) Gauss’ ‘ (d) Laplace
3. Forirrotational vector VX V =
(a) 0 : (hy 1
(c}) 2 (d) 3
4. The work done by the particle against dissipative force is always
(a) positive (b) negative
(c) zero ' (d) infinite
5. velocity is the ratio of electric intensity to magnetic induction.
(a) angular (b} linear
(¢} drift (d) circular
6. The velocity of the particle to the magnetic field is constant.
(a) parallel (b} perpendicular
(¢} inclined (d} none of above
7. The length of simple pendulum made four times, then the time period will become
(a) half (b) same
{¢) double (d) infinite
8. The periodic time of a compound pendulum will be when the axis of rotation passing
through the center of gravity.
(a) minimum (b) Remain same
{c) maximum (d} zero
9. According to the special theory of relativity, the density of ether is
(a) 0 (b) 1.0
() : (d) 05
10. In Lorentz transformation, time is quantity.
(a) absolute (b) constant
(c) conserved (d) relative
P.T.0.
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-2, Do as directed: (08)

[A]  Fill in the biank with propey word.
1. ifthe fluid entering vohi.me element is exactly balanced by that leaving it, thendivV =,
4. The planets moving around the sun is due to conservation of
3. The'time period of simple pendulum having infinite length is
4. According to theory of relativity, mass of particle with velocity.
[B] Find true or false sentence from followings.
1. The maximum line integral per unit area enclosed by the path of integration is called curl.
2. Mechanics is the study of object in motion,
3. Value of acceleration due to the gravity differs from place to place,
4. Aframe of reference in which Newton’s laws of motion are valid is known as absolute frame
of reference. |
Q-3. Answer the following short questions (Attempt any ten). (20)
1. Explain unit vector with example.
2. Explain in brief: Partial differentiation.
3. State Stoke's theorem.
4. Write Newton's three laws of motion.
5. Define: drift velocity,
6. Define electron volt.
7. - Express compound pendulum in short.
8. write conditions for maximum and minimum time period for compound pendulum.
9. write any two drawbacks of simple pendulum.
10. What is the difference between general theory and special theory of relativity?
~11. Ifarod oflength 10 meteris moving along the direction of its length with velocity 0.19c.
compute its change in length.
12.  Write inverse Lorentz transformation equations,
Q-4 Answer the following long questions (any four). (32)
[1]  Explain scalar triple product of three vectors,
[2]  Discuss physical significance of divergence.
[3]  Write a note on Atwood machine providing proper derivations and figure.
[4] . Explain motion of charged particle in a crossed field '
[5]  Write a note on Bar pendulum.
[6]  Explain: 1. Center of oscillation and 2. Center of percussion.
[7]  Discuss Michelson-Morley experiment.
[8]  Discuss Lorentz - FitzGerald length contraction and time dilation.
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